Math 306 Term 3 Test 3

Volume & Area, Conversions and Reverse Calculations
40 Points

Name: _____________________________________________                              

Group: _____

Use 3.14 in cases where 
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is necessary for the calculation. Do not use the 
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 function on the calculator. 

Section 1 – True/False: Use an uppercase “T” to represent a true answer, and an uppercase “F” to represent a false answer.

1) _____ A litre of water always will completely fill a container that is 1 m3 in size.

2) _____ One cubic metre is equal to one million cubic centimetres.

3) _____ Two litres of gas will fit into a cube-shaped container with sides of 12.5 cm.

4) _____ A 5.0 L engine has a displacement of 5000 cc’s.

5) _____ It is possible to convert cubic metres or litres into litres. 

Section 2 – Multiple Choice: Determine the best answer for each question, and use the   corresponding letter (“A” to “D”) in the blank space provided. 

6) _____ Which of the units of volume listed below is equal to a litre?

    A)  dm3               B)  dam3              C)  mm2                   D)  mm3

7) _____ How many cubic metres are there in a cubic hectometre?

    A)  1 000            B)  10 000            C)  100 000             D)  1 000 000

8) _____ The volume of an aquarium is 70 000 mm3.  What is the equivalent volume in dm3?

    A)  7 dm3
        B)  0.7 dm3           C)  0.07 dm3            D)  70 dm3
9) _____The unit of measure used to identify mass in the metric system is …

    A)  litres
        B)  metres
           C)  grams                D)  pounds

10) _____A veterinarian wants to vaccinate four different animals against rabies. Which animal receives the largest dose of vaccine? The animal that receives the vaccine dose of …

                    A)  1.5 cm3
        B)  750 mm3         C)  0.000 000 4 m3  D)  0.002 dm3
11) _____ A machinist wants to make metal spheres with a volume of 904.32 cm3. To carry out this work, he must know the diameter of the sphere which would be approximately equal to:

A)  12 cm

B)  17 cm

C)  216 cm

D)  432 cm

12) _____ How many cm2 are there in the lateral area of a cone with a radius of 15 dm and a height of 20 dm?

A)  15 000

B)  45 000

C)  94 200

D)  117 750

13) _____ A cylinder has a total area of 3956.4 m2 and a base with a radius of 10 m. What is the height of the cylinder?

A)  20 m

B)  40 m

C)  53 m

D)  58 cm 
14) _____ If the total area of a cube is 294 cm2, what is the length of the cube’s edges?

A)  7 cm

B)  
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cm

C)  49 cm

D)  74 cm 

15) _____ If the volume of a cylinder is 254.7 cm3 and the radius is 5.2 cm, the height is approximately:

A)  15 cm

B)  45 cm

C)  0.56 cm

D)  3 cm

16) _____ What is the capacity of a box with a height 5 cm and a square base 7cm by 7cm?

A)  245 L

B)  2.45 L

C)  24.5 cm3

D)  245 mL

17) _____ What is the volume of a pyramid with a regular hexagonal base measuring 24 cm per side, an apothem of 

    12.6 cm and a height of 4 dm?

A)  1 209.6 cm3
B)  1 814.4 cm3

C)  12 096 cm3

D)  18 144 cm3
18) _____The earth has a radius of 6380 km. If ¾ of the earth’s surface is covered by water, approximately how 
    much surface area does this represent?
A)  4.07 X 107 km2
B)  3.8 X 108 km2
C)  5.11 X 108 km2
D)  1.08 X 1012 km2
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_____ A pyramid with a square base of 12 m each side has a height of 8 m. What is the value of the slant height?

A)  8 m

B)  10 m

C)  
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 m

D)  24 cm 
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20) _____ A store sells tents with a volume of 6 m3. These tents are in the shape of a pyramid whose square base measures 3 m on a side. The post that holds up the tent in the middle has a length equal to the height of the pyramid. What is the length of the post?

A)  2 m

B)  3 m


 C)  6 m


D)  18 m

Section 4 - Comparisons: Arrange the           measures listed below from smallest to

 Section 3 – Conversions:  Find the value of x.


largest by using the letters “A” to “E”.

21) x = _______________  45 cm3 = x dm3



26)  _____    smallest
A)  27 cm3

22) x = _______________  6.54 m3 = x cm3



27)  _____

B)  25 250 mm3
23) x = _______________  219600 cm3 = x m3



28)  _____

C)  750 mL
24) x = _______________  0.0961 hm3 = x cm3



29)  _____

D)  0.000 729 m3
25) x = _______________  1.6 dm3 = x L



30)  _____   largest
E)  0.343 L
Section 5 – Problem Solving: Answer in the blank space provided and show your work. 

31) to 35) A small box contains 10 pencils each of which is in the shape of a cylinder with radius 4 mm and length  190 mm. What is the volume of the empty space in the box, in mm3?


                                                                                                
Show your work here!

The volume of the empty space in the box is: _______________ mm3.

36) to 40) The special canvas that is used for a hot air balloon covers a total area of 1520 m2.  The balloon is inflated 

    with helium. How many cubic metres (m3) of helium can this sphere-shaped balloon hold?
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 Show your work here!

The balloon can hold: _______________ m3 of air.
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